

GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax (810) 767-5373 – Administration Fax (810) 767-3634 – Maintenance

DATE:

January 31, 2022

TO:

Action Traffic Maintenance

RMD Holdings, LTD

SUBJECT:

Bid Tabulation

2022 Guardrail Replacements

GCRC No. TBD Mundy Township Flint Township Flushing Township Vienna Township Thetford Township Forest Township

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on January 31, 2022.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc:

Tonya Ketzler – Mundy Township

Karyn Miller – Flint Township

Frederick Thorsby – Flushing Township

Joseph Rizk – Vienna Township

Rockel Stanke – Thetford Township

Rachel Stanke – Thetford Township Mary Ann Price – Forest Township

EJ

AP

GG

ΤK

File

Our mission, as Genesee County Road Commission employees, is to collectively provide and maintain a safe, cost-efficient and quality county road system for the motorists in Genesee County, Michigan.

4

Bid Comparison

Contract ID: 2022 Guardr Bid

Guardrail Upgrades on Primary Routes Description:

Location:

Varies Genesee County 66 - Baldwin Rd (W), 76 - Elms Rd, 76 - Pasadena Ave, 85 - McKinley Rd, 85 - Seymour Rd, 96 - Dodge Rd (E), 96 -Projects(s):

Dodge Rd (Removal), 96 - Dodge Rd (W), 97 - Dodge Rd, 98 - Dodge Rd, 98 - Washburn Rd

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$508,801.50	5.71%	0.00%
1	(02160) RMD Holdings, Ltd.	\$481,280.50	0.00%	-5.40%

Contract # 2022 Guardr Bid (Varies Genesee County) MERL: 2017.9.0

01/31/2022 11:58:02 AM

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S E	ESTIMATE	(1) RMD Holdings,	Ltd.		
Descri	ption	-		Bid Price	Total	Bid Price	Total	Bid Price	Total
0001	2047001	6,554	Ft	\$3.50	\$22,939.00	\$3.75	\$24,577.50		\$0.00
_ Gua	rdrail, Rem, Modified								
	8070004	3,706.5	Ft	\$29.00	\$107,488.50	\$28.50	\$105,635.25		\$0.00
	rail, Type MGS-8								
	8070012	262.5	Ft	\$50.00	\$13,125.00	\$30.50	\$8,006.25		\$0.00
	rail, Curved, Type MGS-8								
	8070052	13	Ea	\$1,100.00	\$14,300.00	\$1,000.00	\$13,000.00		\$0.00
Guard	rail Departing Terminal, Type M	IGS							
	8070080	374	Ea	\$6.00	\$2,244.00	\$6.00	\$2,244.00		\$0.00
	Irail Reflector								
	8070095	20	Ea	\$150.00	\$3,000.00	\$140.00	\$2,800.00		\$0.00
	Mailbox								
	8077001	3,096.5	Ft	\$50.00	\$154,825.00	\$35.00	\$108,377.50		\$0.00
	rdrail, Type MGS-8 with 9-ft Pos	sts							
	8077050	4	Ea	\$3,200.00	\$12,800.00	\$5,400.00	\$21,600.00		\$0.00
	rdrail Anch, Bridge, Det A3 with	9-ft Posts							
	8077050	3	Ea	\$2,950.00	\$8,850.00	\$2,550.00	\$7,650.00		\$0.00
	rdrail Anch, Bridge, Det T4 with	9-ft Posts							
	8077050	24	Ea	\$3,000.00	\$72,000.00	\$3,375.00	\$81,000.00		\$0.00
	rdrail Approach Terminal, Type	2B "SKT"							
	8077050	13	Ea	\$4,050.00	\$52,650.00	\$3,375.00	\$43,875.00		\$0.00
_ Gua Posts	rdrail Approach Terminal, Type	2B "SKI" w	ith 9-ft						
	8077050	1	Ea	\$1,300.00	\$1,300.00	\$1,275.00	\$1,275.00		\$0.00
_ Gua	rdrail Departing Terminal, Type	MGS with 9	-ft						
Posts	8077050	2	Ea		¢0.400.00	¢2.450.00	¢6 200 00		\$0.00
	rdrail Long Span, Det MGS-1 w			\$4,700.00	\$9,400.00	\$3,150.00	\$6,300.00		\$0.00
	8077050	4	Ea	\$5,000.00	\$20,000.00	\$3,150.00	\$12,600.00		\$0.00
	rdrail Long Span, Det MGS-2 w			φ5,000.00	φ20,000.00	φ3, 13U.UU	φ12,000.00		φυ.υυ
	8100402	34	Ea	\$120.00	\$4,080.00	\$10.00	\$340.00		\$0.00
	Type III, Erect, Salv	J 4	∟a	φ120.00	ψ4,000.00	φ10.00	φ340.00		φυ.υυ
٠.g.,	. , po m, =100t, 0aiv			<u> </u>					

Line Pay Item Code	Quantity Units	(O) ENCINEEDIS E		(4) DMD Haldings I			
Description	Quantity Units	(0) ENGINEER'S ES Bid Price	Total	(1) RMD Holdings, L Bid Price	to. Total	Bid Price	Total
0016 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00	Dia Frice	\$0.00
_ Maintaining Traffic, Baldwin Rd o		Ψ700.00	Ψ700.00	ψ3,300.00	ψ3,300.00		Ψ0.00
0017 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Baldwin Rd o	_	ψ100.00	Ψ7.00.00	ψο,οσο.σσ	ψο,σσσ.σσ		Ψ0.00
0018 8127051	1 LSUM	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Dodge Rd at			\$ 1,000.00	40,000.00	40,000.00		40.00
0019 8127051	1 LSUM	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Dodge Rd ov		, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	***	, , , , , , , , , , , , , , , , , , , ,		,
0020 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Dodge Rd ov	ver Brent Run						·
0021 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Dodge Rd ov	ver Maxwell Drain						
0022 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Dodge Rd ov	ver Wisner Drain						
0023 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Elms Rd ove	er Mud Creek						
0024 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00		\$0.00
Maintaining Traffic, McKinley Rd	l over Unnamed						
Tributary 0025 8127051	1 LSUM	\$700.00	\$700.00	\$3.500.00	\$3.500.00		\$0.00
_ Maintaining Traffic, Pasadena A		ψ, σσ.σσ	Ψ, σσ.σσ	ψο,σσσ.σσ	ψο,σσσ.σσ		ψ0.00
Drain							
0026 8127051	1 LSUM	\$700.00	\$700.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Seymour Rd							
0027 8127051	1 LSUM	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00		\$0.00
_ Maintaining Traffic, Washburn R	tu at Sister Lake						
Bid Totals:		\$508,801.50		\$481,280.50			